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General Instructions for Examinees :

(1)

(5)

(6)

(7)

Thenel FEaYeH 94 Y U9 W A A g |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

et yed A Afad § |

All the questions are compulsory.

YA T 1 SR & T IR-YRew | &1 T |

Write the answer to each question in the given answer-book
only.

¥ A% 239 24 H ST faehed § |

There are internal choices in Question Nos. 23 & 24.

¥ AR 28 5k 31fd @S ¢ |

Question Nos. 2 to 5 are Very Short Answer type questions.

59 9% & T 9 sifush 99 of el v €, 39 9t 9r o s T
19 Haq ferd |

For questions having more than one part carrying similar
marks, the answers of those parts are to be written together in
continuity.

T W@ 1H 49 (4, il, i T iv ) T | T® WM & =R fawmed
A, W, WAk g ¥ | wEl STeR SW-gfks # FEER arfas
o[Th{ aﬁﬁm :
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There are _four parts ( i, ii, iii, iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :

U9 hHIHh e 3T T
Question No. HUTAT
Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)
1. () fesfa-113+Fem A
(&) C,F,Cl, () C,FCly
(d) C,F,Cl, (¥) C,F,Cl,
Molecular formula of Freon-113 is
A C,F,Cl, (B) C,FCly
(C) C,F,Cl, D) C,F,Cl, =
(i) TR HFHS T KT I gC g & foret wim # Rod reel ™ &M &
i glaem a1 §
(3) -9 (9) e
(¥) YRR (3) dce drEe a9 |

The facility of working on any computer in any part of the world
during working at one computer, is given by

(A) E-mail (B) Telnet
(C) Protocol (D) World wide web. %
(i) TR AE UG H GH T
(31) CaSO, - 2H,0 () CaSO, - H,O
(W) Caso, () Caso, 5 H,0
Formula of Plaster of Paris is
(A) CaSO, . 2H,0 (B) CasO,.H,O
1 1
(C) CaSOo, (D) CaSO, . T H,O T
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(iv) YR o1 YgeT Toeel SYUg Y&qu 9 §
(31) THo WeAo oflo 3 (W) MEwg

(®) U (%) get |

The first Indian satellite launch vehicle is

(A) SLV-3 (B) Aryabhatta

(C) Apple (D) Earth. %

1 o U FavH § wfud g g wHve Ruged & M fafen |

Write the names of any two atomic reactors founded in the expert

leadership of Bhabha. L

2
ARA T o Feal AT 1 W ST |
Name the constituent compound of the polymer orlon. %
INSAT k1 U ATH 9d=T |
Write the full name of INSAT.

T Hio dffo THA I Alelel TIERR R R FHATd foram 2 o ?
1

Why was Sir C. V. Raman honoured by a Nobel prize ? 5

AUFFNT mA + nB < m, C + n; D & T 9 feis 1 = fafay
TaH 9RO Teerrenl & 9wy FdrEy |
Write the expression for equilibrium constant of the reaction

mA+nB — m; C+n; D

1
2

N —
+
N —
I
P

and show its relationship with rate constants.

Ueoh o Ugehied o AiH= 94 fafan |
Write the general formulae of Alkane and Alkyne. =1

i T Shif<ieh v fRaT § ? 0 Gader s 0 Yehrer foheon o1 aXrerdy
T |

What is the critical angle for glass ? Show the reflection of light rays

by totally reflecting prism. % + % =1

-feer IWE fohd ®8d € ? WA 51 fan &5 # fowr & fog wwfta et
-feer Swe o1 9 fafey |

What is geostationary satellite ? Name the Indian geostationary

satellite which is working in the field of education extension in India.

1 1
§+§—1

+

N —
N —
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10.

11.

12.

13.

14.

15.

16.

17.

18.

4
T & FTAR IR H I Sl B 1 &1 HROT 2

According to Charak, what is the cause of disease in body ? 1

goIel Td goldt foga sToered fohd shed € 2 e S |

What are weak and strong electrolytes ? Give example.

1 N 1 N 1 1 1
2 T3y Ty T 9%
SchAv Tfufshan & 9 yq@ &0 fafay |
Give three main characteristics of reversible reactions.
1 N 1 N 1 1 1
2 Ty Ty T 7%

TId HRRY T AT Ud shiell BEhRE 54 96 fhar Siar § 2 399 R &

HEAT ST |

How are red and black phosphorus obtained from white phosphorus ?
1 1 1 1

Draw the structure of white phosphorus. gty +3 =1z

ﬁOGoGﬁOH%}TQ?{otﬁoEﬁantﬁqTqm |$mﬁ§&@aﬁ-—r—a‘rﬁa
1y STENT § 3R = 2

Write the full names of C.N.G. and L.P.G. From safety point of view,

1 1 1 1
i i ? — 4= +==1=
which gas is more useful and why * 5 t5 +3 15

YIhfaeh TS & Uehelsh AT &1 A1 AT | 3T T[UEsT Y a8 Sl & 2

HHLARY |

Give the name of monomer of natural rubber. How is its efficiency
1

increased ? Explain. 5 + 1=1 %

foga-g=a 301 f68 wed § 2 Jouad ORI A w1 Wes AMifea fae
TR |

What is electromagnetic induction ? Draw a neat and labelled diagram

of A.C. generator. % +1=1 %
IR o o AfaEe 3%k fafau |
Write three oxide ores of iron. % + % + % = 1%

forga-greier 1 diaar 1 7 fora-for el W AR wear ® 2
foag@-gme & I9Am e |

On which factors does the intensity of electromagnet depend ? Give

the application of electromagnet. 1+ % =1 %
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19. = % sw=m fafau :
() R T
(i) foiseR =i
(i)  TTEGISH TFAES |

Give use of the following :

N —
N~
N~
N —

(i) Sulphuric acid
(ii) Bleaching powder
(iii) Hydrogen peroxide.
20. IAfFTHRNE 2 3HF RN AIE ?
What is E-banking ? What are its advantages ?

21. () YRIHR Uk 9g ST I T | F|i ?
(i) YA &) ST i TUSET 997 39 SUANT H od 99T Sl S oef!
T Fraentrar Sifs |
(i) THARHAH AT FNE | T%h HH H 100 912 HT sied q1 40 a2 hi
S[FAEe M ¥ | U I W Sed T HUS qdl HEege 4 uue yiafed
FE H ot ® | 30 § at wH e 1 AE 9| Hife |

(i) Multimeter is a useful device. Why ?

N —
N —

(i) Explain the working of refrigerator and give three precautions
during its use.

(iii) There are three rooms in a house. Each room has a 100 watt
bulb and a 40 watt tubelight. Everyday the bulb is used for one
hour and tubelight is used for 4 hours in each room. Calculate
total electric energy consumed in units in 30 days.

1 1
1+1§+1

=4
2
22. (i) e wd fgdtas 9o § =R 94U |
(i) 9 TOgs U T We3 AHifehd o sFET |
(iii) T EETTH Ul 1 ARG i W Y To HOMY G R A gt
g2

(i) Write the difference between primary and secondary cells.

(ii) Draw neat and labelled diagram of lead accumulator cell.

(iii) Omn charging of lead accumulator cell give reactions at anode and
cathode. 1o +1+15=4
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23.

24.

6
A ereE a1 ;= ¥ 2 foRvw fo e gu suent wrifafy & auemy |

o o

add o 9§ &9 R 1 yfafera a1 &, g foeor o s
HHLARTY |
A W HIHH T A0 L H G fafew |

AT
SR O o 99 Fd 2F & 0T 9% W €, @ Wb fowor fos ot
ey for gfafers Sam g |
e gfie-T wa 39k Rl § U o= SUan i fohtor ot &t |
q EHEEY |
G Gareell i eTeEA avar o g7 fafaw |

What is a simple microscope ? Explain its working by drawing a
ray diagram.

Drawing ray diagram explain the nature of image when the object
is put in front of concave lens.

Write the formula to determine the focal length of a lens.
1 1
1 35 +1 5 +1=14
OR

Drawing ray diagram state the nature of image when the object is
put in front of convex lens in between F and 2 F.

Explain Myopia and the lens used for its correction with the help
of ray diagram.

Write the expression for magnifying capacity of a compound

microscope. 1% + 1% +1=4

Hifas 9 TEEfes aRadd el #gd § 7 3S@ew I |
STFHIRRE Td AIAES ol i UM 9 IRy |
Frefafad g 1 T 33 Y

(31) Hlra srfufehan

(&) 19 3TqEe AfAfshan

(|) faweme stfafean |
3rerEar
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W=

() dre g T Affrad fHd wed § ? SeE SN |
(i) SoIaieh UROT § STFHIHIU TH 3TqedT i GHSRT |
(iii) f=fafaa & e ST

(31) gATCHE IUTh

(d) RUMcH IHTh
(H) S 3 |

(i) What are physical and chemical changes ? Give example.

(ii) On the basis of electronic concept explain oxidising agent and

reducing agent.
(iii) Give one example of each of the following :
(@ Addition reaction
(b) Thermal decomposition
(c) Displacement reaction. 1
OR
(i) What are slow and fast chemical reactions ? Give example.

(ii) On the basis of electronic concept explain oxidation and

reduction.
(i) Give examples of the following :
(@) Positive catalyst

(b) Negative catalyst
(c) Bio-catalyst. 1

N —
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